
数学 中 1 文字の式 式の値(累乗)   氏名 

１ 次の式の値を求めなさい。 

(1) のとき、2=x x−  の値   (2) 3−=x のとき、 x−  の値 

 

 

 

(3) のとき、  の値   (4) 2=x 2x 3−=x のとき、  の値 2x

 

 

 

(5) のとき、  の値   (6) 2=x 2x− 3−=x のとき、  の値 2x−

 

 

 

(7) のとき、  の値   (8) 2=x 3x 3−=x のとき、  の値 3x

 

 

 

(9) のとき、  の値   (10) 2=x 3x− 3−=x のとき、  の値 3x−

 

 

 

 

☆★Challenge！☆★ 

次の式の値を求めなさい。 

(1) のとき、 の値   (2) 5−=x 3x 2−=a のとき、 の値 2)( a−

 

 

 

無料学習プリント スタディーX http://www.study-x.com/ 



無料学習プリント スタディーX http://www.study-x.com/ 

【解答】 
１ 

(1) －2  (2) 3 
(3) 4  (4) 9 
(5) －4  (6) －9 
(7) 8  (8) －27 
(9) －8  (10) 27 
☆★Challenge！☆★ 

(1) －125 
(2) 4 


